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. ik piy=4:3,9

(52 +8y): (6x—7y)

hi HI ik
(A} 4:3 (B) 45:33
(€) 20:13 @y 443

32, Teh 4K % 5,000 s F97 12% Ffed 6
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DHET 59 © | O Woheh SEE] + < UL
% 1,300 ST AN A1 B | HA A ol
qofc: W FA ¥ 9% 18 HE A
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(A) Z5624.60
(B) T2,024.60
(C) %3,824.6¢0
D) TH H Fs I

33. U A S 59 @ § 2 250 Wedd
e =T S 9 6% 5 I TS
T SAT 31 © | SHE S 9 < 9 dlg

-

&
(A) T6375
(B) 375
©) 6,360

(D) 7637080

4. t{a?ﬁ@rafh'sy‘a?wmmﬂ%

(A) 14 (B)

(€) 24

32, A uai borrows

31. Ifx:y=4:3, then tae yvalue of

(5x+ 8y)  (6x=D)
18
(A) 43 ®B) #45:33
() z0-09) (Djide

z5.000 at 12%

compound interest par anAui, interest
hs. He pays back

payable every 0 mort ] :
% 1,300 at the end of every six montas.

i i ! ke at
The third payment ae has o ma)
il der to clear

the end of 18 months n o
the entire loan i3 :

(A) %5624.60
(B) 2.024.60

-y

(C) % 3,824.60
(D) None of these

33. A man deposits X 250 every wonth n
a recurring deposit account of 2 years
at a simple interest rate of 6% per

annum. The maturity value of the
deposits will be -

(A) 6,375
B) 375
(©) 6,360
(D) 6,370.80

34, Thesumof a number and its reciprocal

LS
15 a3 The number is :

: ]
® 3

(D) Nor ﬁconcgcm.ma

(&) 14
€ 24
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oETE ¥

(A) (x+Dx+1)@x-2)

B) @x+7 - 1) x-2)

@) GFDCr 1) G=2)

(D) Wﬁaﬁé:@

TS _’.‘;+F_21
=% X = B

xzO AT xzE] ¥ x & AAE

8 o
A — A o
(&) 9 a3 (B) genu

9 4 g
1y et — Sl
Qs @©) 2aih9

. e o fa | PT T 9 &1 fag R

2t & foma = 0 &1 = SO A
Fer T e i e PT R P
2\ ufa /SPR=38% LORP=)",
ZRSQ=32°aﬂMSQR=x°-@f,f?rm
X0 Ty Al AN &0

43.

44.

45.

Factor uf expression
a4 5xt = 1x— 14

ESh

(A) @5t 7) (e + 1) (= 2)

®) Qe+ -1 (x—2)

© ErD@EtDE=D

(D) Noug of these 4.

The values of x o1 eguation

’ = i e
TR i S it Sl
1—x \[-x (&

where x# 0 and x# 1, are:

4 9 A=t
2 and— ~and1
) 5 md-= (B g
9 4 3 :
( —and — —and — )
©) e (D) 5 2dg i‘;

In the given figure, PT touches cﬁclé{
with centie O at R. Diameter Si
produced mects Bl at P ORE
/PR =359, LORP = )8, /RSQ = 32°
and ZSQOR =x°, then the values of
angles ¥ and 3 will be :

(A) x=582 y=20°

(B) x=32°y=22°
(C) X —_-639, y= 249

(D) X = 560, y= 180 Qm”egedunia
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64 TH A B C T DH UEH sErn &

SO S (TFRR) e R -

A =309V B =356 Y
C'= 385 eV, D=R25 &V

(A) 4 (B) B
65. s s < o ¥

N(A) TR ()

(B) TooRM S an (S
(C) =oRE = A @), A e
(D) = & w5

66. T 8§ fous Grea 8 99 Sl

%2

(A) fSis =ugs
(B) witezs il
(C) =™ = IS

(D) HH I it
67. <ifeaw tieREH §ehe (NakSO,) %

(A) T ol

~ (B) T §9

(©) TS T
) F A FIE T

a7 4, B, C @ D F1 pH A A

Ry

12,3m4?|gﬁ@mmﬁﬁ
S R ¢
(A) 4
B) B
© ¢

D) D

6d.

65.

66.

680

Which element will ionize maost 2asily
among A, B, C and D? Theit cleetror
alfinities are 4

A —379¢eV, B=2.56 eV

C =335V Bi= 3.25'eV
(A) 4 (B) B
© ¢ ®) 2 !

An oxidatinn process involves :

(A) loss of electrens

(B) gain Of electrons

(C) neither gain, DOF loss
electrons

(D) Nene of these

Which of the followig bas water O
crvstallization?

(A) Zinc chloride
(B) Caustic soda
(€) Baking soda
(D) Washing soda

Sodinm potassium  sulphate
(NaKS0Oy) 1s a/an :

(A) complex salt

(B) mixcd solt

(C) impure salt

(D) None of these

Acids 4, B, € and D haye pH values
1, 2, 3, 4 respectively. Which one is
stronger acid?

&) 4
B) B
(e
(D) D acollcgcdunia
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79, farg, fre® fexdl form fErfent gv o

T Heanl 8 :

(A) T ()

(B) W5

(C) AR (TR = T
(D) THENT R

80. W& W ©fY S9N F fAU g R s

81.

82.

T

(A) IS W =

(C) =T W SHadd g &1

(D) =78 | FE 47
Wmé?f&meﬁ@wgﬁzom,
& Tl U ST o & gl et i
Tl 40 HHT, 2 A WY W g W W
GIROTHT SE =T S

(A) 3T o9 & TWE

(B Sedel 4 o ol

(C) Tuad woc od & ™8

(D) FH § = 7

YREYE Tl o (o TRTaEE o1 WM T
(A) 0.1 A8 1004

B) 100 A% 4000 &

~(C) 4000 A 2 8000 &

(D) 8000 A & T

83, TSN YRR T HIE ®

(A) fommy o=

B) we ™ @R F A<
(C) Hifesm a5y o
(D) s e A=

i

80,

81.

82.

83,

The point through which 2 ray of ligly
passes without suffering deviation
called :

(A) Puole

(B) Focus

(C) Centre of curvature

(D) Optical czntre

Lens used for projecing the image on
screen 1S

(A) weonvex lens

(B) concave lens

(€) convex and concave lens

(D) None ol these

A convex lens of focal length
20 om is placed in contact of with a

of foeal Ilength

concave lens

40 em. The natare of resulted lens is :
(A) convex lens

(B) concavc lens

(€) plano-convex lens

(D) NMone of thesc

Wavelength range for visible light is :
(A) 0.1 Ato 100 A

®) 100 Ato 4000 &

(€)' 4000 A to 8000 &

(D) Above 8000 A

Source of ultraviolet light is :

(A) electric bulb

(B) red hot iron ball

(C) sodium vapour lamp

(D) carbon arc lamp
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